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Theory:

Introduction

Classification of costs iIs necessary in order to determine the most suitable method of
accumulating and allocating costs. The principal methods of accumulating costs are described
below:

- Classification by Nature (Unit cost calculations method). Aakadl) 441 L 45y 4o
- Classification by Variability (Breakeven analysis method). | dJaeil) ki Juas 43, ks

Classification by Nature. | (5 i) ik dayuh ca cidadl
1. Manufacturing Costs | dssiam didsy
Cost associated with the manufacturing activities which include:
a. Direct Materials: The costs of raw materials that can feasibly be traced to a particular
sudlall Mgl dils g | product or job. Examples include wood used in making furniture and
iron used in making steel.

b. Direct Labor. The costs of wages paid to labor that can feasibly be traced to a particular

sl Juadl s b | product or jobs. Examples include wages to workers who assemble furniture

or operate melting machine.
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//c. Direct factory expense: such as gas and efectrical costs. | skusils 15l i fias sl paad) iy laa .c
d. Manufacturing Overhead (indirect): All manufacturing costs other than direct
materials and direct labor. It includes both fixed and variable costs. Examples include

indirect materials (supplies), indirect labor, repairs and maintenance on machinery,

taxes, factory utilities, rent of factory building, insurance, and depreciation on factory

equipment and plant. | W s cul uall s oilsal) pbuat y dilua IS Jia 5 piciall g Al ClS) Jadi g 5 jdlall e ariaaill S g

Other Costs Concepts| . Ay cadsi) anlia

* Direct Costs. Costs that can be identified with or traced to a specific cost object

(product, service, or activity). Examples include direct materials and direct labor.

* [ndirect Costs. Costs that cannot be identified with or traced to a specific cost object

(product, service, or activity). Examples include factory overhead, depreciation and an

administrative cost, etc.

Slaadl o) g aldd) 3 gall Jia didlad ) dadd g) gz gilal Lgauii o) LAdaaT (S Al A g 28 judiluall il =
4 1Y) Calsl) g i) AdIS Jla Allad g) dadd g) gz siiad gl g) Whnand Sy Y (Al & 18 pdileal) e Cdlsal) *
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2. Nonmanufacturing Costs | *asiaill & s 2

All Costs that are not related to manufacturing activities such as:
s0ia dpyiail) dhdily L dBdle ¥ Al Callsil) avan (A

a. Administrative and office (management) salaries. A Gl Gy, a
b. Sales personnel salaries and commissions. Clagsall g iy, b
c. Advertising Lead
d. Freight - out Expense oadll dillss
e. Depreciation on management building Ag )Y Al DUl e
f. Legal Expenses A gdl) clsas  f
g. Other selling expenses s AY) Gl cliss g
h. Distribution cost aosd s h




/6051‘/4 ccount Methods. | Gasy ;,m Gk /

First Method.: Unit cost calculations. | sash 4as e ; ) 43 ki)

Costing. means looking at the amount to be spent on selling a product, running a production

process or delivering a service.

Selling Price

- b
Total Cost Profit or Loss
|
Indirect Cost Direct Cost
Advertising
v
Administration Factory expense
Cost - Prime Cost
(gas, oil, water

b .
Distribution Cost

generator, and |

electricitwv . * 'L
- . . . Mlaterial Cost Labors Cost
ITVoiCces )

Depreciation

Fig. (1) Block diagram of unit cost calculations
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/E_XJ:Calculate the selling price of one pen of the following data:
No. of pen =1200 , Material cost=160,000 1D , Labors cost=200,000ID
Factory expense = 35% of the prime cost , Administration and distribution cost = 20% of the
direct cost , Profit = 10% of the total cost.

Ans:

Prime cost = 160,000 + 200,000 = 360,000 1D

Direct cost = prime cost + factory expense
= 360,000 + = x 360,000 = 486,000 ID

Total cost = direct cost + indirect cost
= 486,000 + % x 486,000= 583,200 ID

Selling price = total cost + profit
= 583,200 + - X 583,200 = 641,520 ID

641,520
1200

=~ The selling price of each pen = =534.6 ID




. A factory produces 300 Bulb in a day invo erial-cost 250,000 1D, Tabor cost 200,000 1D,

/agndé:‘actory expense 225,000 ID, assuming a profit of 10% of the total cost and distribution cost 30%
of the direct cost, calculate the selling price of each bulb.

Ans.

Prime cost = material cost + labors cost
= 250,000 + 200,000 = 450,0001ID
Direct cost = prime cost + factory expense

= 450,000 + 225,000 = 675,0001D

Indirect cost = distribution cost = % X 675,000 = 202,500 ID

Total cost = direct cost + indirect cost

= 675,000 + 202,500 = 877,500 1D
Profit = -2 x total cost = —> x 877,500 = 87,750 ID
~ 100 ~ 100 ’ -

Selling price = total cost + profit
= 877,500 + 87,500 = 965,250 ID

965,250
300

=3.2175 ID

= The selling price of each bulb =
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H.W1:

Draw the block diagram of selling price and calculate the selling price of one pen of the following data:
No. of pen = 3000

Material cost = 200,000 ID

Labors cost = 250,000 ID

Factory expense = 30% of the prime cost.

Administration and advertising cost = 18% of the direct cost.

Profit = 12% of the total cost.

H.W?2:

For the following annual data of the electrical company producing 2500 electrical bulbs, calculate the selling
price of each electrical bulb
No. of workers =10
Working wage = $10000
Material cost = $200,000
Water, generator and electricity invoices = 17% of the prime cost.
Distribution cost = 15% of the direct cost.
Administration cost = 10% of the direct cost.
Advertising cost = 20% of the administration cost.
Profit = 8% of the total cost.



H.W3:
Calculate the Indirect and direct cost of selling 200 cars? if given
e Selling/ car = 5000%

e Profit-cars = 40,000%

e Indirect cost equal 20% of direct cost?

ANS:
Direct cost = 50,000%
Indirect cost =10,000$
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